Fresnel B DETE

oo oo

/ cos(z?)dx :/ sin(z?)dr = g
HHIE
/ expliz?]dz = Vi = \/Z(l +1)
|
BEETZ O .

I:/ expliz?]dz
c

ZEZD. B C 290 O BERTHTLAN n/4 DRFICE 5. LEE
RET2 (ZHud, HETERKICH-S>TWL) . OoFEhETB 2 &5
T,OB=R t$%. &2, B2oKIKGFEDLDIZ, n/4 IR %
CLLT, RBRICC »SFEMICH EZHLRKEEEZ S (MEHi\VIZ
IME VD, ZDL SVARSTHD LTI Z LR THAH), ST, B
a0 TE, PR OBEES RO IR TH 2 2 s, ¥Rtk s
L7 C, oz, MBoicZzoCo#l L CEEET &,

R z 0
I= / exp[ixQ]daH—/ exp[i R? exp(2i0)]d9—|—(/ exp[—rQ]dr)xexp[zg] =0
0 0 R

H2WHIZ, R— oo lZBWT, ¥nlZiET 22 26 GFHIZEL)

R R
lim expliz?]dr = exp[iz} X lim exp[—r?]dr
R—oo 4 R—oo J

B AR

/O ~ expl—rdr @

BE, explif] = /51 +1) CHET 2 &

/OOO expliz?lde = V;\/ga +i)

/ expliz?]|de = Vi = \/Z(l +1)
IR E DT 2 B 2 2 itk D

/ cos(z?)dx :/ sin(z?)dx = g

— 00 — 00

w21z

MWTTL%. Thofk

/O; exp|—iz?]dz = \/2(1 —i)=/%

BRois.



